FOR USE WITH AYSM OMLY. NOT INTENDED FOR
WALL MOUNT.

UPON RECEIPT OF MERCHANDISE: Thoroughly inspect
for any freight damage, which should be brougnt to the at-
tention of the carrier. Compare the catalog description listed
with the fixture label on the merchandise to be sure you have
received the correct merchandise. You should receive three
pre-packs of material with this shipment.

Prepars Fixture for Surface/Suspended/Pendant Mounting:
1. Remove diffuser.
2. Remove lamps (if equipped) as shown in figure 1.
For T5 lamps: Twist and lift lamp. Remove from fixitre.
For T8 lamps: Twist and lift lamp. Slide end of lamp siightiy
through opening in end piece to allow lamp to be pulled out of
fixture with ease. See Figure 1.
For compact flucrescent lamps: Remove lamp from lamp clamp
and socket,
3. Remove screws from channel cover. Squeeze and fift channel
cover {o remove,
4. Remove shipping clips on each end by unscrewing black
plastic screw. Pry the shipping clip off the fixture.
Refer to appropriate mounting type for further instructions.

o

Surface Mount:

Tee Bar:
1. Forelectrical connection, remove knockout on side of channel
closest to feed point.

2. Use appropriate electrical connectors.

3. Forinstallation, remove two 5/8” knockouts on fop of channels. Place
ceiling clips on tee bar. Refer to B-line pre-pack for additional
instructions. Measure distance between 5/8" knock guts for proper

-clip placements.

4. Place 5/8" knockouts over screws in ceiling clips. Secure fixture

by tightening washer nuts onto the exposed threaded section of

ceiling clips.

Hard Ceiling:

1. Drill channel at appropriate locations and secure with appropriate
fastener. '

2. - Use appropriate electrical connecters.

Suspended Mouni to Ceiling:

1. Remove knockoeut at feed peint on top of channel.

2. Use appropriate slectrical connectors.,

3. Instali Cable Mounting Plate every four feet or at the end of every
unit with three self-tapping screws(included).

4, Referto Installation Instructions shipped with the AVACF30 Feed
Kit & AVAC30 Non-feed kit for further mounting instructions,

Pendant Mount fo Ceiling:

1. Remove all knockouts at feed and hanging points on top of chan-
nel.

2. Useappropriate electrical connectors.

3. Referto Installation Instructions shipped with the SCY4 Stem Kit
for further mounting instructions.

AVSM AVANTE SURFACE | SUSPENDED / PENDANT MOUNT

To join fixiures: e

1. Pre-position four pressure sensitive tape strips as indicted in
Figure 2.

2. Insert alignment plate with tabs on each end pointed down info
end of one fixture.

3. Remove non-stick tabs on pressure sensitive tage before join-
ing fixtures.

3a, For suspended mounting: Before jaining fixtures install the
cable mounting plate (with stud) on first fixture fo be installed.
4. Install joining fixture by sliding alignment plate into formed siot in
channel. Make sure joiners are properly aligned before allow-
ing presstire sensitive fape to contact adjoining fixture.
4a. For suspended mounting: Join second-fixture to first by
supporting both fixtures while installing cable mounting plate
(without stud) over cable mounting plate (with stud). Secure
with three self-tapping screws (included).
5. Secure bottom of joint by inserting alignment screws info large
pre-formed holes and driving tight (screws are inserted in op-
posite directions).
Make electrical connections as required according to the Na-
tionai Flectrical Code.

o

When mounting is complete:
1. Use appropriate electrical connectors.

2. Replace channel cover.

3. Relamp.

4. Apply slotted metal endplates to end of channel (if notjoining to
another fixture).

5. Replace snap-on diffuser.

8. Snap on finished end over slotted metal endplates. Be surelo

align tabs with slots in metal end plate.

Figurs 1

Part No. U219454
05152




AVSH AVANTE SURFACE | SUSPENDED | PENDANT MOUNT

3

R RS R R R R ST SR

Adjustable Cable Mounting
Plate (no stud)

Cable Gripper

Cable Mounting L

Self-Tapping Plate (no stud) , /
Screws (3) & ‘

-Pressure
Sensitive Tape

Alignment )

Alignment
Screws (2)

Figure 2

‘Mounting Data

- M
PR o 18 !
PRV B S s
e S— 24
E [ 281
| s
' T ) ‘ . L
Py i - el ; - o W
123/ L © 0 ¢ qﬂ 121716 5 |
B ] ’
; T =7 t
i = ! 34 —
x2 Knockouts on both 1x4
sides
95
. 13 — Py JE—
2-1/8- - 2 '
51-3/8 ST V1 O S — KEY

7 o 5/8" Knockout
L o 7/8" Knockout
= 8 {©y 2" Dauble Knockout

L + Mounting Peint
_.-7 _1 q;—
A
24 1x4 Tandem

Knockouts on hoth

sidas




INSTALLATION INSTRUCTIONS
AVACF30 & AVALC30

1 Avante Suspended Mount
- Cable Suspended Assembly Pack

On Grid %ngg

in Tile Mounting

¢ Upon receipt, thoroughly inspect for any
! freight damage which should be brought to
€ theattentionofthe delivery carrier. Compare
| the catalog description listed onthe packing
§ slipwiththelabelonthecartonio ensureyou
have received the correct merchandise.

IMPORTANTSAFETYINFORMATION
For Your Protection, Read Carefully

{ WARNING -Riskoffire. Do notinstallinsula-
tion within 3 inches of fixture sides or wiring
compartment, nor above the fixture in such
2 manner as to entrap heat.

insert 1/4-20 x 3/4 bolt into bracket A.”

1.

Insert 1/4-20 x 3/4 boltinto bracket A. §
Some special ceillings may require 1" |

bolft (by others).

1. Electric currentcan cause painfulshock
or serious injury uniess handled properly.
Foryoursafety, always remember the fol-
lowing:

+ Turn off the power supply.

s Ground the fixture to avoid potential
glectrical shocks.

» Do not handle an energized fixture or
energize any fixture with wet hands,
when standing on a wet or damp sur-
face, or in water.

s Double check all electrical connections
to be sure they are tight and correct.

2. Specific safety information concerning
lamps:

= Match wattage of fixture and lamp ex-
“actly.

« [Donotremove or insertiamp when power
is on.

s Donat scratch glass or subjectlamp to
undue pressure as either may cause
lamp breakage.

s Protect operating lamp from sources
of moisture.

2.

Hook bracket Aon tee.

2.

Hook bracket B onto bracket A. Se- |
cure with 1/4-20 hex nut (do not

tighten).

3.

Hook bracket B {with slot) onto bracket A.
Screw brackets together. Secure bracket
assembly to structure above.

above.

Attach brackets to hanger bar. Adjust  §
bracket's position and secure with }
screw. Tighten 1/4-20 hex nut. Sectire
bracket assembly to the structure §

P2 L/THONIA LIGHTING

Part No. U219452 §

502 |



Non-Feed Kit Installation:

1

2.
3.
4
5

) 2" Canopy
&7
o Upper Cable Retainer

Cabie Gripper

Cable Mounting Plate

Plage 2" cancpy flush with ceiling tile.

Thread upper cable retainer onto 1/4-20 boit.

Thread adjustable cable gripper onto stud of cable meunting plate.
Install cable mounﬁr}o!ate with three seff-tapping screws (as shown).
Insert cable into tep of cable gripper and level fixture.

Feed Kit Installation:

o U1

Feed Cord

o~

Attach bushing and Greenfield connector to j-box

Hang j-box on bracket tab and secure j-box to bracket assembly with
SCTEWS.

insert feed cord through Greenfield connector and into j-box. Attach
strain refief.

Place canopy flush with ceiling tile.

Thread upper cable refainer onto 1/4-20 balt.

Install cable mounting plate with three self-tapping screws and push
strain refief into center of cable mounting plate (as shown).

Thread adjustable cable gripper onto stud of cable mounting plate.
Insert cable into top of cable gripper andlevel fixture.

Insert feed cord in hele in cable mountmg plate (through knockottin fop
of channel).

Wire fixture using appropriate wire connectors and methods,




